CASE STUDIES
SUGGESTED RESPONSES
Case study examples in the 10th edition print version generally show situations in 2015 and reflect 2015 tax law. 

Jason and Andrea Dalton

1.
(D) – Gain is not recognized on the transfer, even if made more than one year after the divorce, if the transfer is made pursuant to a divorce decree. Chapter 12, p. 143.
2.
(C) – Alimony payments are considered to be taxable income to the recipient, and allow a concomitant tax deduction for the payor. Chapter 12, p. 142.
3.
(A) – Child support payments are specifically excluded from the definition of alimony, and are neither deductible by the payor, nor includable in the income of the payee. Chapter 12, p. 142.
4.
(B) – A QDRO applies only to qualified retirement plans (such as a 401(k)). Chapter 12, pp. 142-43. 
5.
(B) – Property that is inherited during the marriage but is held separately from other marital assets is generally not an asset available to a spouse in a divorce proceeding and is considered ‘separate’ property of the spouse. However, the asset is not universally protected – if Andrea were to place the funds in a joint account and commingle them with other joint marital assets, the assets may potentially be considered marital assets. Chapter 12, p. 143.
6.
(C) – Although the Dalton investment accounts appear to have a conservative investment allocation consistent with their stated risk tolerance, this is overshadowed by the tremendous allocation that the Daltons have in Jason’s XYZ stock, which alone accounts for more than one-third of their total assets. This high level of total equity exposure, and lack of diversification, suggests that the Daltons are not invested in a manner consistent with their stated risk tolerance. Chapter 28, pp. 421-22.
7.
(B) – In this time-value-of-money equation:

PV = $15,000

I = 6%

N = 4 years

FV = PV × (1 + I)4
FV = 15,000 × (1 + 0.06)4 = 18,937

Therefore, the FV = $18,937. Note that simply determining that the annual increase on $15,000 at 6% = $900 is not correct, because it fails to take into account the effects of compounding. Chapter 10, p. 97.
8.
(B) – In this time-value of money equation, there are two separate steps that must be completed. First we must determine the cost of college after the first four years:

PV = $15,000

I = 6%

N = 4 years

FV = PV × (1 + I)N
FV = 15,000 × (1 + 0.06)4 = 18,937

Therefore, the FV = $18,937 after four years. This provides us the inputs for the second step of the equation, where:

PV = $18,937

I = 5%

N = 3 years

FV = PV × (1 + I)N
FV = 18,937 × (1 + 0.05)3 = 21,922

Providing a final future cost of college at FV = $21,922.

9.
(B) – Since Carl was under the age of 18 in 2015, he was subject to the kiddie tax rules, which result in taxation of income at his parents’ marginal tax rate. However, Carl received a $1,000 standard deduction, and was taxed on the next $500 of income at his own rate, before the application of the kiddie tax rules. As a result, Carl’s taxable income was $1,500 - $1,000 = $500, and this entire $500 was subject to his tax rate (10%). Carl would have needed $2,000 of unearned income before he would have actually been subject to his parents’ marginal tax rates. Chapter 27, pp. 391, 387.
10.
(A) – Although the UTMA proceeds are invested in a 529 plan, the owner is still flagged as a custodian under a UTMA structure. Consequently, once Ashley turns 18, she will become the owner of the 529 plan and Jason is removed as custodian, just as the case would have been in the absence of the 529 plan. In this case, the 529 plan is simply an investment choice of the UTMA account, and does not change any of the fundamental rules for UTMAs. However, this is not a taxable event. Chapter 10, p. 124.
11.
(C) – Since Jason’s cost basis is $55,000, his unrealized gain in the contract is $17,000 ($72,000 - $55,000). Withdrawals from annuities before the annuity starting date are generally deemed to be “earnings first,” and as a result the entire $17,000 of unrealized gain would be subject to tax (the remaining $3,000 would be a return of principal). Since Jason is not yet 59½, this withdrawal is subject to the annuity early withdrawal penalty – withdrawals for education are not an available exemption from penalty for annuities. It is important to note that the 10% penalty will only apply to the $17,000 includable in income, and not the entire $20,000 withdrawal.

12.
(C) – Since Ashley is younger than age 18, the kiddie tax rules apply to her. As a result, the income will generally be subject to tax at her parents’ rate. A small amount may be taxed at her tax rate. Chapter 27, p. 391, 387.
13.
(C) – In order to have savings bond income excluded from income, the bonds must have been issued after 1989, to an individual that was at least 24 at the time of issuance (i.e., the parents and not the child). Since the bonds were titled in Ashley’s name, they will not be eligible for the exclusion, regardless of the fact that she may meet the AGI and other requirements. Chapter 10, p. 129-130.
14.
(A) – Total assets should include only assets titled in Jason and Andrea’s name – the UTMA accounts are assets of the children. In addition, it’s important to understand that liabilities should not be subtracted from the list of values – this would constitute net worth, which is equal to assets minus liabilities. Chapter 16.
15.
(D) – The maximum annual salary deferral contribution for 2015 to 401(k) accounts is $18,000. In addition, since Jason is over the age of 50, he is eligible to make a $6,000 additional "catch-up" contribution.

16.
(A) – Under the 3-year 0% financing deal, the $30,000 invested at 1.25% would grow to a future value of $31,139.12. After payment of $30,000, $1,139.12 would remain. Under the lump-sum payment now with discounted price option, $2,000 invested at 1.25% for three years would grow to $2,075.94. Chapter 20.
17.
(D) – This problem can be solved in two steps.

First, determine what the cost of the car will be in the future:

PV = $25,000

I = 2%

N = 4 years

Therefore, the future cost of the car will be $27,060.80. With this future cost goal, we can now determine what the Daltons need to deposit today:

FV = $27,060.80
I = 4%

N = 4 years

Therefore, the present value of the required savings = $23,132. Chapter 20.
18.
(B) – Since Jason’s employer paid the disability insurance premiums on a pre-tax basis, Jason’s benefits will be fully taxable to him. Note that if Jason had paid the premiums entirely with his own after-tax dollars, he would receive the benefits tax-free. The benefits are only partially taxable and partially tax-free if Jason splits the cost with his employer. Chapter 13, p. 147.
19.
(C) – Since the Daltons are willing to continue carrying a mortgage, the question becomes “What is the appropriate time period to guarantee payments?” Since interest rates are at historically low rates, and the Daltons have nearly reached the end of their initial ARM guarantee, they will benefit by refinancing the mortgage (particularly in their current low-interest-rate economic environment). Since the Daltons plan to maintain the mortgage for 10 years, they should obtain a rate-lock for 10 years (i.e., a 10/1 ARM). A 30-year fixed-rate mortgage would incur a higher interest rate, yet would be paid off at the same time as a 10/1 ARM. Chapter 18.
20.
(D) – This example serves as a caution that it is important to define the scope of any potential financial planning engagement, and to collect all appropriate information (concerning both the investment, and the client’s goals and objectives), before making any kind of recommendations. In this case, the planner has, perhaps unwittingly, violated the CFP® Code of Ethics. Chapter 7.
_____________________________________

Phillip and Marsha Sanders

1.
(B) – Assets of Phillip and Marsha should not include assets of the children (even though Phillip happens to be a custodian) because the assets are legally for the benefit of the children. In addition, the mortgage should not be subtracted to arrive at total assets; subtracting assets from liabilities determines net worth, not total assets. Chapter 16. 2.
(D) – The income tax treatment of the settlement (whether it will be considered taxable income or not), the deductibility of fees for Phillip’s lawyer (whether they will be deductible at all, or where/how they may be deducted), and whether to have the settlement paid as a structured settlement over time or into a trust are all potential concerns/issues for a situation of this nature that the practitioner should be aware of. Chapter 25, pp. 345-46.
3.
(D) –All of the education tax benefits are potentially available for students. Chapter 10, p. 105
4.
(C) – Under current rules, Fred’s UTMA account is treated as an asset of the child for financial aid purposes, while the 529 college savings plan (different than a 529 prepaid tuition plan) is treated as an asset of the parent. Chapter 10.
5.
(A) – Under the UTMA rules, once the child reaches the age of majority (18 or 21, depending upon the state), the child has full rights and access to use the funds however he or she would like. Consequently, although Phillip and Marsha may not be pleased about it, they are not legally allowed to stop Fred from using the funds for a car purchase (although they may certainly attempt to wield parental influence to encourage him to use the funds responsibly). If this was/is a concern for Phillip and Marsha, they should consider other savings strategies besides a UTMA account. Chapter 10, p. 124-125.
6.
(D) – Only withdrawals for higher education expenses from a 529 plan are tax-free, and consequently the withdrawn earnings will be taxable. Moreover, disability of the owner is not a reason to avoid the non-qualified withdrawal penalty for distributions from 529 plans (only a disabled beneficiary may obtain penalty-free withdrawals from the 529 plan). Chapter 10, p. 108-110.
7.
(A) – The purchase of a computer for school use is a qualified withdrawal that allows for tax-free distribution treatment of the Since the withdrawal is qualified, the earnings will not be taxable and no penalties will apply. Chapter 10, p. 108-110.
8.
(A) – Since equity in the home is not included for financial aid purposes, but investment accounts are, spending the investment account to pay off the mortgage would reduce the amount of includable assets for financial aid purposes and improve the Sanders’ ability to qualify for aid. However, this is not a wise strategy in regards to Phillip’s IRA – not only is the IRA not included for financial aid purposes in the first place (thus there is no need to spend it down), but the withdrawal would also create taxable income (which would reduce the Sanders’ ability to qualify for financial aid) and would incur a 10% early-withdrawal penalty. Chapter 10, p. 120.
9.
(B) – Since Darlene begins school in a year, her four college payments will be:

$15,000 x 1.061 + $15,000 x 1.062 + $15,000 x 1.063 + $15,000 x 1.064 =

$15,900 + $16,854 + $17,865.24 + $18,937.15 = $69,556.39

It is important to note that this is a future value – the total of all outflows that the family will make. The question was not the present value of the payments (i.e., the dollar amount necessary to fund the payments today, allowing for future growth). Chapter 20.
10.
(C) – Fred owes a total of three payments. The first one is due now, so the present value (PV) of the first payment is $9,000. Fred then owes two subsequent payments:

PMT = $9,000

I = 5% / 2 (payments are every six months)

N = 2

PV = $17,347

$17,347 + $9,000 = $26,347. Chapter 10.
11.
(C) – Since the existing mortgage balance is $175,000, a refinance with $4,000 of closing costs will create a new loan balance of $179,000. Using a financial calculator, we can find that with:

PV = $179,000

I = 6.25% / 12

N = 360

…the payments will equal $1,102/month. Chapter 10, 18.
12.
(B) – Medical expenses for dependents are deductible, including when the dependent is a parent. However, Marsha’s mother lives almost entirely off of her own Social Security income, and thus is not a dependent because Phillip and Marsha do not provide for more than 50% of her living expenses. Since Marsha’s mother cannot be claimed as a dependent, the medical expenses cannot be claimed as a medical expense deduction by Phillip and Marsha (even though they actually paid for the prescription drugs). Note that if Marsha’s mother would be a dependent except for the fact that the mother’s income exceeds the gross income threshold for dependency exemptions, the medical expenses may be deducted by Phillip and Marsha.
13.
(D) – Under IRC Section 121, if Marsha’s mother has owned and lived in the house for two of the past five years, then up to $250,000 of capital gain from the sale of her primary residence  is excluded from income. Since Marsha’s mother meets these requirements, the $150,000 gain is not subject to federal income tax.
14.
(C) – This is a common tax trap for the unwary. When a 401(k) or other qualified plan distribution is rolled over in the form of a trustee-to-trustee transfer, the entire amount is transferred and the transaction is tax-free. Although the entire amount can be rolled over following a distribution to the individual, when the funds are distributed by check to an individual, the plan is generally required to withhold 20% of the amount when it is payable to the individual. If the 80% proceeds are rolled over, then only 80% of the rollover is completed, and the other 20% is subject to tax and potentially early withdrawal penalties (note that Phillip must be totally and permanently disabled for the exception to apply). To avoid this, the individual must make up the other 20% out of pocket, and then file for a refund of the 20% “over-withheld” amount later in the year. This is one reason why nearly all 401(k) rollovers are completed by trustee-to-trustee transfer.

15.
(B) – Although being disabled exempts Phillip from the pre-59½ early withdrawal penalties, withdrawals from a traditional IRA are always still going to be taxable. Note that Phillip must be totally disabled to be eligible for this treatment. This information can be found in the Comprehensive Retirement Planning Supplement (page 26) posted to the Tools & Techniques of Financial Planning, 10th Ed. website on www.nucollege.com
16.
(B) – Interest for “home equity indebtedness” is deductible only for regular tax purposes, and is an AMT adjustment item (and thus is not deductible for AMT purposes). Only “acquisition indebtedness” (borrowing to acquire or improve the residence) is fully deductible no matter what. Note that if a traditional “home equity line” is used to make improvements to the residence, it is technically not “home equity indebtedness” for tax purposes, despite the use of the term “home equity” by the bank. Chapter 27, p. 381.
17.
(A) – Under the definition of disability for Phillip’s policy after the two-year mark, if he is able to perform any job for which he is reasonably qualified by education, training, or experience, his benefits will cease, regardless of whether he actually takes such a job. Many disability policies have such a “hybrid” definition of disability, with a more liberal definition for the first few years and a more restrictive definition thereafter – policies should be carefully read to check for this possibility. Chapter 13, pp. 147-148.
18.
(A) – The benefits from Phillip’s disability policy will be tax-free, because the premiums have been paid with Phillip’s after-tax dollars. If the premiums were paid on a tax deductible basis (by Phillip directly, or paid for by his employer), then the benefits would have been taxable. Chapter 13, pp. 147-148.
19.
(A) – Unfortunately, if Phillip is capable of working (even if he chooses not to), he is ineligible for Social Security disability payments, because he is not totally disabled. However, receipt of private disability payments does not make Phillip ineligible for Social Security (although some private disability policies may reduce benefits dollar-for-dollar for Social Security disability payments that are received). Chapter 13, pp. 147-148.
20.
(D) – Although Phillip may believe he can get away with this, this is not only unethical but is actually illegal and constitutes fraud against the insurance company. The advisor should have both legal and ethical concerns about being involved in such an improper and illegal activity. In addition, since the claims themselves are fraudulent, the insurance company may potentially not only cease future benefits (since Phillip is not technically disabled), but may attempt to recover payments already made under Phillip’s fraudulent claims from his doctor. Chapter 13, pp. 147-148.
_____________________________________

James Wilson and Harold Newton

1.
(C) – The maximum contribution to a profit-sharing plan would be $53,000 in 2015. Elective deferral contributions to a SAR-SEP IRA and a 401(k) would be limited to $18,000 in 2015.
2.
(A) - Assets themselves should only be included in this calculation – James’ credit card debt is a liability, and should not be subtracted to arrive at total assets; subtracting liabilities from assets determines net worth, not total assets. Chapter 16.
3.
(C) – Regardless of the fact that they have co-habitated for many years, Harold and James are not recognized as a legal married couple for federal tax purposes, nor is James a legal dependent of Harold’s, and thus they may not file any type of tax return besides two separate single returns. Chapter 12, p. 143.
4.
(B) – Although all three of these methods could potentially reduce Harold’s potential AMT liability, answer (A) is illegal (one may not simply choose not to pay state income taxes!), and answer (C) is not appropriate, as only certain types of municipal bonds (private-activity bonds) need to be avoided for AMT purposes. Chapter 27, p. 388-90.
5.
(A) – Since Harold and James are not a legal couple, the payments from James to Harold in exchange for habitation would technically be rental payments. However, the mortgage liability remains entirely Harold’s, and would not be deductible to James in any way. Chapter 12, p. 143.
6.
(D) – Since James is not appointed as an attorney-in-fact under Harold’s power of attorney or health care power of attorney, James may not make medical decisions on Harold’s behalf, regardless of the fact that they have been a couple for many years. However, James could potentially subsequently be appointed as Harold’s guardian by the courts at some point in the future, and be allowed to take some actions on Harold’s behalf. Chapter 12, pp. 143-44.
7.
(C) – Since Harold and James are not legally married for federal tax purposes, this is not a transfer between a married couple but instead is a gift from one individual to another. Consequently, Harold would be subject to federal gift tax treatment – however, he would still be eligible for the $14,000 (in 2015) gift tax annual exclusion, so only $11,000 would have to be a gift to absorb a portion of Harold’s lifetime gift tax unified credit. Chapter 12, p. 143; Chapter 14, p. 166.
8.
(D) – All of the above may potentially be an appropriate option to reduce James’ interest payments, although caution should be used with option (B) to ensure that the loan is subsequently paid back. Chapter 15.
9.
(C) – Because James does not have a current will, he is considered to have died “intestate” (without a will). Consequently, he is subject to the state’s intestacy statute, which is meant to be a "substitute" will provided by the state. State intestacy statutes will generally leave property to surviving family members (although exact proportions may vary state by state). However, payments will never automatically pass to Harold, since he is not a legal spouse. Chapter 14, p. 161.
10.
(B) – James would be able to deduct his health insurance premiums, in the same manner as any self-employed individual. However, because James does not own the home and does not file a joint return with Harold, he will not be able to deduct any portion of the real estate expenses or mortgage payments that Harold paysA 11.
(B) – Since James’ sister is the named beneficiary of the account, it will pass to her. Although James does not have a will and is considered intestate, his 401(k) does not pass subject to his will (or the state’s intestacy statute) because there is a named beneficiary. Harold has no rights to the 401(k) account, since he is not a legal spouse and is not a named beneficiary.***
12.
(D) – Since James is not an employee, nor a dependent, Harold cannot deduct any of the payments he might make on James’ behalf unless the only reason why James does not qualify as a dependent is as a result of having gross income in excess of the allowable threshold.
13.
(B) – With a remaining balance of $155,000, and refinance costs of $2,000, the total amount refinanced is $157,000, at 6.25%. Therefore, the new payments will be:

PV = $157,000

I = 6.25% / 12

N = 180

PMT = $1,346

Chapter 18, p. 236.

14.
(D) – Although this was ostensibly intended to be a generation-skipping trust, the payment is not actually considered any form of a generation-skipping distribution if it does not actually go to a skip person. Since the payment to Harold’s brother is a payment from (Harold’s) mother to (her) child, there is no skip beneficiary of the payment and it is not subject to generation-skipping tax in any way. Chapter 14, pp. 175-76.
15. (A) – This is a two-part question. First, one must determine the current monthly payment, knowing that the mortgage will be paid off at the end of the 30 year period (28 years from now):

PV = $155,000

N = 28 x 12

I = 7.25% / 12

PMT = $1,079.04

Subsequently, we can determine that if the remaining balance with $1,079.04 monthly payments is $155,000, the original balance must have been:

FV = $155,000

N = 24

I = 7.25% / 12

PMT = - $1,079.04

PV = $158,000 (rounded to the nearest thousand)

Chapter 20.

16.
(B) – As growth is compounded semi-annually, the final value of the account will be:

PV = $48,000

I = 5% / 2 (compounded semi-annually)

N = 21 x 2 (compounded semi-annually)

FV = $135,000 (rounded to the nearest thousand)

Chapter 20.

17.
(B) – To solve this problem, we must first determine the pay-off schedule for each of the two payment plans:

PV = $5,000

I = 16.99% / 12

PMT = -125

N = 60 months

AND

PV = $5,000

I = 16.99% / 12

PMT = -100

N = 88 months

Therefore, the time difference is 88 months – 60 months = 28 months.

Chapter 20.

18.
(C) – This problem combines the future value of the current account with the future value of the subsequent contributions. As a time-value-of-money problem, the solution is:

PV = $48,000

N = 26 (compounded annually)

I =5% (compounded annually)

PMT = $10,000 (subsequent contributions)

FV = $682,000

Chapter 20.

19.
(D) – The Exclusion Equivalent in 2015 is $5,430,000. Harold’s estate will be less than $5,430,000, so he will not face a federal estate tax. The death benefit proceeds of the policy are not taxable income to James (as they would not be for any beneficiary, unless there had been a prior transfer-for-value) Chapter  14, p. 167-175.

20.
(B) – Under IRC Section 1223(11), property that is inherited and receives a date-of-death basis adjustment is considered to be long-term capital gain property when sold, regardless of the actual date of purchase or the time elapsed since death. However, because James is the owner of the house when sold, it is not eligible for the IRC Section 121 gain exclusion rules – because James did not own and reside in the house for two of the past five years. Chapter 27, p. 374-75.
_____________________________________

Janice Peterson

1.
(B) – Since Janice fully supported her mother last year, she would have been eligible to claim her mother as a dependent. Medical expenses paid on behalf of a dependent are deductible for regular tax purposes as itemized medical expense deductions subject to a 10%-of-AGI floor. The 7.5%-of-AGI floor increased to 10% for taxpayers under age 65 beginning in 2013. The expenses are only deductible on the tax return of the payor of the expenses (Janice), not the person who incurred the expenses (Janice’s mother).

2.
(B) - Total assets should include only assets titled in Janice’s name (and not her mother’s name) – this excludes the small bank account in Janice’s mother’s name. In addition, it’s important to understand that liabilities should not be subtracted from the list of assets – this would constitute net worth, which is equal to assets minus liabilities. Chapter 16, p. 189-194.
3.
(C) – These are both common concerns in leaving assets to children. A guardian should be named in the will, and assets for minors are generally left to a guardian for the benefit of a minor, or in trust with a trustee to manage the assets for the minor. This helps to avoid both the concerns regarding a minor’s ability to take legal title to property, and the issue of a minor suddenly having access to large amounts of money. Chapter 14, p. 155-156.
4.
(D) – Medicaid has a right to attempt to recover assets only from the estate of the deceased, and since Janice's mother owns virtually no property, there is nothing available for Medicaid to recover against. Medicaid cannot pursue Janice for the expenses of her mother, nor can they deny Janice’s mother the right to be buried. Chapter 13, p. 148.
5.
(D) – Since Janice owns and is the beneficiary of the insurance policy, did not purchase the policy in a transfer-for-value transaction, and has owned the policy for more than 3 years, the policy is not subject to income taxation, is not included in Janice’s mother’s estate, and is not subject to gift taxation. Chapter 26, p. 361.
6.
(A) – Since Janice is the owner of the policy, and the proceeds would be paid to Carolyn while Janice is still alive, then the payment of benefits (triggered by the death of Janice’s mother) would be a gift from the owner (Janice) to the beneficiary (Carolyn). This is a common problem when a policy owned by party #1, insures party #2, but is payable to a third party. Since Janice’s mother does not own the policy, though, there are no gift or generation-skipping tax ramifications for Janice’s mother. 7.
(D) – In 2015, the 401(k) contribution limit is $18,000. In addition, Janice is age 50, and is eligible to make a catch-up contribution (2015 limit of $6,000). Therefore, Janice’s total contribution limit for 2015 is $18,000 + $6,000 = $24,000.

8.
(A) – Since Janice’s employer pays the policy premium on a pre-tax basis (the cost of insurance is deductible to the employer), the entire amount of benefits will be taxable to Janice when received. Chapter 13, p. 147.
9.
(C) – Given that:

PV = $13,000

PMT = -$400

I = 18.99% / 12

Then solving for N, we determine that the payoff point is N = 46 months. Chapter 20.
10.
(B) – This is a two-part question. First, one must determine the current monthly payment, knowing that the mortgage will be paid off at the end of the 30 year period (29 years from now):

PV = $205,000

N = 29 x 12

I = 4.25% / 12

PMT = $1,025.77

Subsequently, we can determine that if the remaining balance with $1,025.77 monthly payments is $205,000, the original balance must have been:

FV = $205,000

N = 12

I = 4.25% / 12

PMT = - $1,025.77

PV = $209,000 (rounded to the nearest thousand)

Chapter 20.

11.
(B) – Although the $75,000 is part of a standard 30-year mortgage, it is technically “home equity indebtedness” because it is not debt that was used to acquire or substantially improve the house (instead, the borrowing was used for Janice’s mother’s medical expenses). Home equity indebtedness loan interest is deductible for up to $100,000 worth of indebtedness for regular tax purposes, but is an alternative minimum tax (AMT) adjustment item and is thus not deductible under the AMT system. Chapter 27, p. 381.
12.
(D) – These are all potential concerns and issues that should be noted and addressed in a basic estate document review. Chapter 14.
13.
(B) – Given that the current money market yield is 4.5% (per the economic environment case background), then:

FV = $5,000

N = 24

I = 4.5% / 12

Therefore, the necessary PMT = $199.49 (or $199 to the nearest dollar). Chapter 20.
14.
(D) – In this straight-forward time-value-of-money problem,

PV = $10,000

N = 4

I = 6%

Therefore, FV = $12,624.77 (or $12,625 to the nearest dollar). Chapter 20.
15.
(C) – Since Janice wants to maximize tax benefits of a substantial contribution, utilizing a taxable account would not be beneficial because of Janice’s higher income tax bracket. In addition, an UTMA account would not be optimal, as income will still be mostly subject to taxation at Janice’s tax rate under the kiddie tax, a $50,000 contribution may be subject to gift taxation (or use of Janice’s lifetime gift tax unified credit), and Janice would not be able to retain control. Although a Coverdell ESA would be a tax-favored route, it is not an option because of the low contribution limit. The 529 college savings plan will allow the full contribution that Janice wants to make without triggering gift tax consequences, will be tax-free if used for qualified education purposes, and will allow Janice to maintain the most control. Chapter 10.
16.
(C) – Purchasing-power risk should be a concern for Janice, as her investments are currently so conservative that she may have trouble keeping up with inflation over the long run. In addition, Janice’s high proportion of fixed-income investments potentially subjects her to a high level of interest-rate risk. Chapter 4, p. 19.
17.
(D) – These are all reasonable potential strategies for Janice to pursue to better secure her future retirement goals. Chapter 3, pp. 11-13
18.
(A) – Because Carolyn is under the age of 18, she will be subject to the “kiddie tax” rules. However, this income does not exceed the standard deduction of $1,000 in 2014 that Carolyn will have available as a dependent. Consequently, Carolyn’s standard deduction will reduce her taxable income to $0, and no income tax will be due. Chapter 27, p. 391-92.
19.
(C) – These items are both deductible for a self-employed individual as an above-the-line deduction on page 1 of the 1040 provided Janice reports sufficient income to cover the medical insurance premiums
20.
(D) – A financial planner is entitled to be compensated reasonable for the services rendered, and Janice certainly has the capacity (based upon her income) to pay a reasonable fee despite the credit card debt she has accumulated. In addition, there is no reason that an ethical professional cannot be compensated by either fees or commissions. As long as the compensation a planner will earn is fully disclosed to the client and the client agrees upon the payment, there is not an ethical reason to focus exclusively on fess or commissions. Chapter 6 
_____________________________________

Tom and Sharon Brown
1.
(E) – All of the above are forms of investment advisor compensation. Chapter 6, p. 37.
2.
(C) – Investment advisors with less than $25 million of assets under management are generally prohibited from registering with the SEC. Chapter 6, p. 33.
3.
(C) – According to the SEC rules, investment advisors are allowed to take custody of accounts and are required to disclose the holding location. Chapter 6, p. 39.
4.
(D) – Municipal bonds offer tax advantages similar to IRAs; thus, holding them in a tax-deferred account is arguably redundant and may increase the overall expense structure of the account.***
5.
(B) – A legal opinion would be needed to answer this question accurately but the investment advisor may not be liable for the loss because he was acting in the direction given by the client. 6.
(A) – With proper disclosure, investment trades can be made so long as the investment was not purchased before it was purchased for the client. Chapter 6
7.
(D) – An investment advisor or client cannot act because the information given is “inside information"; therefore, to be safe, the investment advisor and the client should wait until the information is made public. Chapter 6
8.
(D) – All account information is confidential unless special permission is obtained. Chapter 6
9.
(C) – The “brochure rule” requires investment advisors to provide written information regarding their business practices at the beginning of the relationship and annually each year. Chapter 6, p. 37.
10.
(D) – The best possible answer is to follow the request made by Sharon allowed through joint account ownership. Though the other options are available such as opening an individual account, it is best to remain unbiased and treat each person equally as you would individual clients. Chapter 6
_____________________________________

Cindy Wilson
1.
(B) – II, IV, III, I, V. Chapter 3, p. 11.

2.
(B) – $132. Total income of $3,618 minus total expenses $3,486. Chapter 15.
3.
(C) – (Total monthly income $3,618 minus total monthly expenses $3,486) plus current medical and credit card payments, $248, equals $380. Chapter 15.
4.
(D) – Unsecured debt is defined as debt that is not secured with collateral. Chapter 17, p. 201.
5.
(D) – Using the financial calculator; PV=5600, I/Y=18%/12, N=12, compute PMT. Chapter 20.
6.
(C) – The debt to income ratio is annual debt repayments (excluding mortgage) divided by gross income. Using this scenario, Cindy’s total annual debt payment is $9,792 (student loan, auto, credit cards, and medical). Cindy’s gross annual income is $38,016 (child care is not included in gross income for this ratio.) $9,792 ÷ $38,016 = 26%. Anything above 20% limit illustrates less than average financial leverage if an emergency should arise. Chapter 17, p. 200.
7.
(D) – If Cindy defaults on her equity loan payment, the lender may take her home and the remaining equity. Chapter 17, p. 202.
8.
(A) – Discover, $3500 balance, 14.99% APR, 5 Years equals a monthly payment of $83; Visa, $5600 balance, 18% APR, 5 Years, equals monthly payment of $142; Home Equity loan for $9100, 7% APR, 5 Years, equals monthly payment of $180; $180-$142-$83=$45. Chapter 20.
9.
(A) – According to the Federal Trade Commission (http://www.ftc.gov/bcp/conline/pubs/credit/atmcard.htm), the maximum liability for unauthorized use of a credit card is $50 per card. However, if you report the loss prior to any charges being made, the card issuer cannot hold you responsible for any charges.

10.
(A) – $1,000 × 18% = $180. Or calculating the future value; PV=$5600, I/Y=18%, N=1 Year (Equals $6,608); minus PV=$5600-$1000 from savings, I/Y=18%, N=1 (Equals $5,428); $6,608 - $5,428 = $1,180; $1,180 - $1,000 payment = $180. Chapter 20.
_____________________________________

Jeff and Sharon Williams

1.
(B) – She will be short $98,000. This payment is made at the beginning of the year so the financial calculator will need to be set on beginning payment. PV=$325,000, PMT=$5,000, I/Y=6%, N=15. Future value will equal $902,000. $1,000,000 - $902,000 = $98,000. Chapter 20.
2.
(B) – FV=$40,000, I/Y=4%/12, N=60. Chapter 20.
3.
(D) – PV=-$178,880; FV=$201,000; N=1 Compute I/Y. Chapter 20.
4.
(D) – PV=-$12,000; I/Y=6.5%/12; N=12*3; PMT=$250; Compute FV. Chapter 20.
Note:  As an alternative, you could use the amortization function on the financial calculator to solve this problem in a different way. Chapter 20.
5.
(D) – PV=-$11,000; FV=$28,165; I/Y=7.5% Compute N. Chapter 20.
6.
(A) – PV=-$100; FV=$200; I/Y=8%/2; Compute N=17.6/2=8.8 years. Chapter 20.
7.
(C) – PV=$70,000; PMT=-$10,000; I/Y=11%; N=4; Compute FV. Chapter 20.
8.
(D) – Using the financial calculator CF0=-$4,000; C01=$345; C02=$425; C03=$575+$3,000; Compute IRR. Chapter 20.
9.
(B) – PV=$95,000; I/Y=5%; N=4; Compute FV. Chapter 20.
10.
(A) – Using the financial calculator C0=-$95,000; C01=$300; F01=2; C02=$400; C03=$500+$115,473; I=7%; Compute NPV. Chapter 20.
11.
(B) – Jeff and Sharon should find investments that have a positive NPV. Chapter 20.
